Converting Between ng, ug, mg and g (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
g g ° 8 gl iggs -
& g Z 2 5 1o 8 g g
— < : T : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert 616.300.000.000.000ng to g
2. Convert 65.900.000 ng to mg
3. Convert 69.500.000 ng to ug
4. Convert 0,0066 g to mg
5. Convert 9.300.000 ng to mg
6. Convert 0,00774 mg to ug
7. Convert 0,0000007322 g to ng
8. Convert 0,01117 mg to ug
9. Convert 4780 ng to ug
10. Convert 0,6323 g to ug
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Converting Between ng, ug, mg and g (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: ! — o
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 616.300.000.000.000ng to g
616.300.000.000.000ng ~10+-10+10+-10+-10+-10+-10+ 10+ 10 = 616.300 g
2. Convert 65.900.000 ng to mg
65.900.000ng - 10+10+10+10-+10 +- 10 = 65,9 mg
3. Convert 69.500.000 ng to ug
69.500.000 ng - 10 = 10 = 10 = 69.500 pg
4. Convert 0,0066 g to mg
0,0066g X 10 X 10 X 10 = 6,6 mg
5. Convert 9.300.000 ng to mg
9.300.000ng ~10+10+10+10+10+10 =9,3mg
6. Convert 0,00774 mg to ug
0,00774mg X 10 X 10 X 10 = 7,74 ug
7. Convert 0,0000007322 g to ng
0,0000007322g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 732,2 ng
8. Convert 0,01117 mg to ug
0,01117mg X 10 X 10 X 10 = 11,17 pg
9. Convert 4780 ng to ug
4780ng - 10 - 10 +~ 10 = 4,78 ug
10. Convert 0,6323 g to ug
0,6323g2 X 10X 10X 10 X 10 X 10 X 10 = 632.300 ug
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